## PLEASE DO NOT CALL OR OTHERWISE CONTACT THE BOYS & GIRLS CLUB PRIOR TO THE SALE ALL SALES ARE FINAL AND YOU ARE RESPONSIBLE FOR LOADING AND HAULING YOUR PURCHASES AWAY SAME DAY, PRIOR TO CLOSING

NOTE: This is a partial inventory list - we've received two more truckloads of merchandise in the past week - so much that we can't even get in them to inventory items until we unload for the sale.

## LAMINATE AND WOOD FLOORING:

To find more information about a specific flooring, search Lowes and the Item

NOTES: # on your favorite search engine

Sq ft per box is included in the item desrciption

Flooring will be discounted approximately 50%

tem	Description	# Boxes on H	# Boxes/Pallet	Pallets
1031677	NR GL WO REVERE PEWTER 28SQFT	118	24	4.916667
785975	NR 5-IN COLOR WSH CNYN MPL 28-SQ	29	10	2.9
1031682	NR GL WO RIVER SILT WB 28SQFT	48	24	2
785990	7-1/2-IN GRYSN OK CGT 31.09-SQ FT	80	40	2
1031685	NR GL RO SMOKE EMBERS 28SQFT	45	24	1.875
1031683	NR GL RO AGED CANVAS 28SQFT	44	24	1.833333
462476	NR NF MLTI WDTH HS ACACIA 23.8-SQ	70	40	1.75
785988	7-1/2-IN GRYSN OK TWR 31.09-SQ FT	53	40	1.325
1031681	NR GL RO STONEHENGE HS 28SQFT	28	24	1.166667
1054603	5.23 IN SS COFFEE OAK LOCK	58	56	1.035714
785975	NR 5-IN COLOR WSH CNYN MPL 28-SQ	10	10	1
785975	NR 5-IN COLOR WSH CNYN MPL 28-SQ	10	10	1
1031684	NR GL RO NATURAL 28SQFT	21	24	0.875
1031677	NR GL WO REVERE PEWTER 28SQFT	20	24	0.833333
1031680	NR GL RO TARPLEYBROWN 28SQFT	20	24	0.833333
1031678	NR GL HICK WORN BARK 28SQFT	17	24	0.708333
1086549	AH AR VAIL OAK 15.94 SQ FT	39	56	0.696429
1031679	NR GL RO SADDLE HS 28SQFT	12	24	0.5
786001	PERGO LP SILVER OAK 27.14-SQ FT	15	44	0.340909
1054602	5.23 IN SS WHEAT OAK LOCK	10	56	0.178571
770389	NR NF MW LCK HS ACACIA 32.55-SQ F	7	40	0.175

761791 NR PM 5.36-IN LCK UT MPL 23.25-SQ	6	36	0.166667
	760		

PLEASE DO NOT CALL OR OTHERWISE CONTACT THE BOYS & GIRLS CLUB PRIOR TO THE SALE ALL SALES ARE FINAL AND YOU ARE RESPONSIBLE FOR LOADING AND HAULING YOUR PURCHASES AWAY SAME DAY, PRIOR TO CLOSING

NOTE: This is a partial inventory list - we've received two more truckloads of merchandise in the past week - so much that we can't even get in them to inventory items until we unload for the sale.

NEW TRAILER INVENTORY INCLUDES - BUT ISN'T LIMITED TO: Snow Blowers, Tile for floors, walls, counters, Fiberglass Insulation, Igloo Coolers, Fixtures and Plumbing Supplies, and Argon Oil Shampoo!!!

## **GENERAL MERCHANDISE:**

Description	Quantity	Retail/Item	Sale/Item
Generac GP Series 8000-Watt Gasoline			
Portable Generator CO Shutdown Sensor	3	\$1,129	\$790
Blue Hawk 14.25-in D x 22-in W x 48-in H 4	-		
Tier Plastic Utility Shelving Unit	15	\$18	\$9
J. Hunt Home 4 pc Lamp Set	2	\$40	\$20
Patio set	1	\$448	\$314
Skilsaw spt 70 wm-01	1	\$399	\$239
shop vac	52	\$80	\$48
Sterling bathtub wall set	1	\$289	\$145
Suncast hose reel		\$40	\$20
Seton white recessed TP holder	32	\$15	\$8
Soap Dish	48	\$11	\$5
Ashley chrome towel bar 24in	28	\$20	\$10
Seton black recessed tp holder	12	\$15	\$8
Ashley chrome towel bar 18in	64	\$7	\$3
Salem Black robe hook	24	\$6	\$3
Ashley chrome tp holder	88	\$17	\$8
Glass & Metal soap dish	8	\$10	\$5
Ashley chrome robe hook	60	\$12	\$6
Salem black towel ring	92	\$8	
18in Salem black towel bar	92	\$10	

chrome 3 piece kit	44	\$40	\$20
Ashley chrome towel ring	20	\$5	\$3
Salem black 24in towel bar	4	\$11	\$5
Salem black 3pc bathroom kit	80	\$51	\$25
unfaced fiberglass roll	24	\$31	\$16
faced fiberglass roll	8	\$92	\$46
Faced wood fiberglass	8	\$94	\$47
Cason kitchen faucet	5	\$229	\$137
O cedar 2.5 gal quick wring mop bucket	148	\$10	\$5
Sandover brushed nickel br faucet	3	\$99	\$50
kohler round bowl toilet	4	\$209	\$125
4in x 8 flexible duct	64	\$11	\$5
craftsman folding sawhorse	26	\$20	\$10
Durst furnace cement	12	\$16	\$8
Koi kitchen faucet kohler	12	\$229	\$137
Duct with connector dryer kit	7	\$15	\$8
Vent hood dryer	6	\$14	\$7
kohler 3 pc shower hardware Lilyfield	9	\$179	\$90
Duct register	6	\$16	\$8
pre slit pipe insulation	80	\$2	\$1
Better Home & Garden bathroom hardware			
set 3pc Cameron	2	\$35	\$17
Brainerd satin nickel garment hook 3pk	8	\$11	\$5
Brainerd cabinet knob	84	\$1	\$1
Alvida natural 5x8 area rug	1	\$199	\$100
Gladiator geartrack channels set	1	\$12	\$6
Gladiator garageworks gear wall	1	\$105	\$52
Garden trellis	24	\$17	\$5
Razorback leaf rake	26	\$20	\$10
kohler 3 pc shower hardware Maxton	47	\$179	\$90
Intrepid kohler multifunction showerhead	17	\$70	\$35
kohler enlighten showerhead	1	\$45	\$22
Delta universal dual head chrome shower		<b>4</b>	1=-
head	1	\$99	\$50
Glass sliding shower doors frosted	1 set	\$400	\$200

Rubber flex liquid coating white	4	\$90	\$45
solar outer replacement dome	4	\$48	\$24
Skyview skylight solar 27x9	2	\$98	\$49
MAAX shower door	1	\$569	\$285
Ring Chime pro	8	\$50	\$25
Proshield dryer vent Dundas Jafine	3	\$21	\$10
Ninjamas night time diaper L/XI	14	\$26	\$13
Craftsman 3/8 drive half in 12pt deep			
socket	80	\$8	\$4
Closetmaid white 18in spice rack	1	\$40	\$20
GE light bulbs 60 w Led 8pk	80	\$13	\$7
kohler Maxton two handle faucet bathroom American standard mighty tough toilet seat	2	\$99	\$50
cover elongated slow close	4	\$30	\$15
LP gas conversion set GE	8	\$35	\$17
Blue Hawk plastic tile mop flooring	25	\$11	\$5
National Hardware 5in gate latch	20	\$14	\$7
MD Rubber window seal ex small	12	\$6	\$3
Stanley yellow 6 in one screwdriver	68	\$3	\$1
2x4 in Simpson Strong tie deck hold	11	\$6	\$3
Black + Decker 7 in one steam mop	1	\$200	\$120
Brainerd garment hook 1pk	10	\$4	\$2
Better Homes & Garden satin nickel hook	2	\$8	\$4
Craftsman 18 gauge tin snips left handed Steel electro galvanized pipe clamp	16	\$14	\$7
SuperStrut	100	\$4	\$2
stanley 6in long nose pliers	68	\$3	\$2
Brainerd bar cabinet door pull stainless		·	·
steel	50	\$7	\$3
Craftsman straight 24 gauge tin snips	2	\$15	\$7
Arrow HT50 Hammer Tacker	2	\$31	\$15
Craftsman 7in diagonal cutting pliers	4	\$11	\$5
Craftsman 24 pc metric tool set	1	\$30	\$15

Irwin Hanson 3/8 16 threads per inch tap &			
drill combo pack	6	\$5	\$3
Irwin Hanson 10-32 nf 16 tap & drill combo			
pack	18	\$5	\$3
Dewalt 25mm snap off blade x3	36	\$4	\$2
Dewalt screw driving set 35 pc	4	\$16	\$8
Kobalt 7/16 in 12pt ratchet wrench	20	\$17	\$8
4 way digital cable splitter	3	\$9	\$4
Crescent Phillips impact driver bit 2pk	31	\$2	\$1
Crescent t25 impact driver bit magnetic 2pk	29	\$8	\$4
Crescent 1/4 in 2in long impact drive	37	\$5	\$3
kohler Rally shower head	2	\$40	\$20
R30 faced fiberglass insulation	12	\$57	\$29
Kohler Maxton shower head bathroom	1	\$35	\$17
Kohler Maxton faucet bathroom	1	\$99	\$50
Kohler lily field bathroom faucet	1	\$99	\$50
bissell little green pet pro carpet cleaner	1	\$160	\$80
Snow shovel Hopkins sub zero 46 in			
extendable	96	\$25	\$10
Monster Snow broom Hopkins sub zero 60			
in extendable	128	\$20	\$7
Quickset front door lock set	2	\$109	\$55
combination conduit connecter fittings	400	\$1 3 f	or \$1